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'Iirrrc:3llours

Ii riefly

o1) i

ii.

iii.

iv.

vi.

explaiu the lbllowiug.

Dill'erentiatc between litec goocls anrl lr,conotnic goocls.

Wlrat do you utrclcrstancl Jiorrl collstaut rcturn to scalc?

l)illtrentiate tlrc ' lotal tltility'rrrcl 'Mafginal t ltilitl '

L)cllne the temr'liquilibriunt l'r:icc '

Give lbur chatacteristics of [Jatter Syslcrr.

(iNP in 2002 I{s.320. 000 rrrillion. 11 grew k) Ils. 150.000 in

2003 a ccononry. I]lrt the per capita (iNl' actually clecreascd ls

it possiblc? lixplain.

lixpltrin u4tat loLt tlnderstalrd by 'Opportunity cost'

Define the lenr'r'Ircottomio Globalizatiotr'

(06 marl<s)

of price elaslicity ol'denrancl usitrg

vii.

viii.

(20 nrarl<s)

02) a. Ilxplain the de1'ercnce hetr.r'een a nrovelnenl and a shilt itl a dcmantl

clttvc.

b. I)istinguish bctrveen the incomc

a product rlsing exampl(]s.

c. I)clirre ancl cxplain thc cdlcept

cxarnplcs.

(06 marks)

cfl'ect and lhc substitution ell'cct ol'

(08 nrarks)



+-
't

03)'l'h'e table below shows the weekly

liod a ntatr cottsumes \\'ilh a total

a. i. lixplain blielly

eclLrilibt iLtnt.

utility trurction lbr two typcs ol

budgcl of lts, 36/=.

Irr.uit ({/=)
'I'ot,rl Utilit)

16

28
36
43
48
51

52

52

(0li malks)

(0-+ mrrts)

l)dco
Qudrtity

I

2

4
5

6

7
IJ

Nlent (4/=)
Totnl Utility

28
54
78
98
n0
I l8
t22
r24

AssLuling thilt the oollsulnel rvishcs ttt ntaxinise his tltility and lhat hc

spcncls all his incone oll olle ol rvith olher oi'these two gootls Anslvct'

thc lbllo\\'ing clucstion \vith thc help ol'1hc intornlatior given iti lhc tablc

thc condiliollj nccassary lbr ths c(nlstllllcl to bc i11

(04 marlis)

ii. llou'rvoLrlcl this cquili{rrium be rltetetl by

- l lall in lhe plice ol'rlue gootl

- a lill in llir; gcnorltl pt icc levcl by l givclt

b. Cillculille lhe const'ttrlet cqrtilibtirttlt lloitlt.

c. llxplain 1he charactcl'isti( s ol a oottsutncr's t',,,t,r0."tt";,;ut;l;;*r,



04) a. I,ixplain thc larv ofsupply ancl iLs contlitiorr.

lr. I ilrrlX'rleltan(l liutc(i,,n is gircn rr,

Qd .= l8s0 - 40p

SLrppll, lunction is given as

Qs:550+60p

€

,6 I I
\ t,-
('a -

(il5 n,a:.1?i'f'.,,v s,

i. Fincl the eqLrilibtiutn price ancl thc quantity ol.the irbovc lir.nr.
(05 nrarl(s)

ii. l1'price changes to I{s. lgi- rvhat woulci hrl)pen to thc
equilibr.iunr position.

(05 nrar.l<s)

iii. Calculate denrancl elasticitl, rv|cn pr.ice incrcase fr.our i{s.lc)/=
1() Its.22l:

(0-5 nrarks)

05) Brielly explain

a. What do you uuderstaltd by the ter.nrs .personal lncontcs. aucl

'Per capita Irrcorne,

b. Dil'lerentiate GDp and (iNt,

c. What do you nearr by . I.ax Multiplicr..

d. Explain 1he conccpt ol, Autonolr.rorrs Investr]ent ,

e. frphirl rltc relatioltslril bcr\rcen Ml'C rrrcl nrultil.licf.
l'. lixplain whrt is rrlcanl by ,llcal Nrtional lnconrc,

(20 nrarl(s)



, 06) a. Whar d. y.u uLrcler.srr'd by .Cir.cLrlrr llorv ,,i;,i.:rr'll,:*j,

b. llxplain the circular llorv of iucotrlc in rt closed econotny lvith a

(iovernment seclof.

(0(r nrallis)

c. Ilorv rvill thc circLtiar llolv of ittcotrtc dill'er in itr open lJcotlortly/
(10 rrarks)

07) a. llxploin the I:,coDotllic importiutcc oi ll]oncy ill the prcsslll

ecorlomy-
(05 narlis)

b. lixpl"rin ltorv lhe CctrLtitl Ilanli coLrld collll'ol {he suppll'ol lroncy.
(05 marls)

c. DiscLtss lhc neecl lirr corrtrolling " N4uttt:y sLtpply " iu a tlalion
( l0 nrarlis)

08) 'FoIcign l)iIect Lr\,cstnrrltl (lrl)l) is I miLior lirctor in thi|cl lvotld

coLurtrics ils il slrttcg)' lbl plollloting ccortoniic clcvcloptrlent " atrllyse

{his stntcrnout l)il),i|ig spcciol ilt{elltioo to Sri l-allliii.

(20 rnarlis)


